












A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of them sit at 

four corners of the square while four sit in the middle of each of the four sides. Those who sit at 

the four corners faces outside while those who sit in the middle of the sides face the center of the 

table. D sits third to the left of G. E sits third to the left of C. C does not sits any of the corners. 

Only one person sits between C and F. Only one person sits between D and F. A is an immediate 

neighbor of F but not an immediate neighbor of C. The number of the person sitting between B 

and F is same as the number of the person sitting between D and C.

A, B, C, D, E, F, G और H एक वर्गाकगर मेज के चगरों ओर इस प्रकगर बैठे हैं कक उनमें से चगर वर्ा के चगर कोनों पर 

बैठे हैं जबकक चगर चगर भजुगओ ंमें से प्रत्येक के मध्य में बैठे हैं। जो लोर् चगरों कोनों पर बैठे हैं उनकग मखु बगहर की ओर 

ह ैजबकक जो भजुगओ ंके बीच में बैठे हैं उनकग मखु मेज के कें द्र की ओर ह।ै D, G के बगयें से तीसरे स्थगन पर बैठग ह।ै E, 

C के बगयें से तीसरे स्थगन पर बैठग ह।ै C ककसी भी कोने में नहीं बैठग ह।ै C और F के बीच केवल एक व्यकि बैठग ह।ै D 

और F के बीच केवल एक व्यकि बैठतग ह।ै A, F कग कनकटतम पडोसी ह,ै लेककन C कग कनकटतम पडोसी नहीं ह।ैB b 
B और F के बीच बैठे व्यकि की संख्यग D और C के बीच बैठे व्यकि की संख्यग के समगन ह।ै



A, B, C, D, E, F, G and H are sitting around a 

square table in such a way that four of them 

sit at four corners of the square while four sit 

in the middle of each of the four sides. Those 

who sit at the four corners faces outside while 

those who sit in the middle of the sides face 

the center of the table. D sits third to the left 

of G. E sits third to the left of C. C does not 

sits any of the corners. Only one person sits 

between C and F. Only one person sits 

between D and F. A is an immediate neighbor 

of F but not an immediate neighbor of C. The 

number of the person sitting between B and F 

is same as the number of the person sitting 

between D and C.



Q. What should come in the place of question mark(? )

प्रश्न चिन्ह के स्थान पर क्या आएगा(? )

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

RD NY JT FO BJ ?

(1) MP

(2) NQ

(3) OF

(4) WE

(5) XE
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Q. Which of the following is the 9th to the left of the 21th from the left end of the 

above arrangement?

बाये छोर से 21वे शब्द के बाये 9वा शब्द कौन सा होगा ? 

(1) J      

(2) E   

(3) A                     

(4) P 

(5) None of these



Which of the following will come in place of the question mark (?) in the 

following sequence ?

चनम्नचिचित अनुक्रम में प्रश्न चिह्न (?) के स्थान पर चनम्नचिचित में से कौन सा होगा?

6 C 7 ,8 F 10 ,11 J 14 ,15 O 19 ,?

(1) 25 U 20                                               

(2) 20 U 25 

(3) 20 U 24                                              

(4) 19 U 25        

(5) None of these 



6 7 8 9 9 8 7 9 7 7 8 9 7 8 7 6 9 6 8 9 7 7 9 8 9 7 6 6 8 7

How many such digits are there in the given series each of which when 

subtracted from the following digit, gives 1 as resultant?

दी गई शं्रििा में ऐसे चकतने अंक हैं, चिनमें से प्रत्येक को चनम्नचिचित अंकों में से घटाने 

पर 1 पररणाम प्राप्त होता है?

A .Three

B . Four

C . None

D . More than four

E . None of these



6 7 8 9 9 8 7 9 7 7 8 9 7 8 7 6 9 6 8 9 7 7 9 8 9 7 6 6 8 7

Which of the following numbers will be obtained when the 18th number from the 

right end is added to the 19th number from the left end of the series?

चनम्नचिचित में से कौन सी संख्या प्राप्त होगी िब दायें छोर से 18 वीं संख्या को श्ररंििा के बाए ंछोर 

से 19 वीं संख्या में िोडा िाता है?

1. 17

2. 15

3. 16

4. 18

5. None of these



6 7 8 9 9 8 7 9 7 7 8 9 7 8 7 6 9 6 8 9 7 7 9 8 9 7 6 6 8 7

How many odd numbers are there in the numeric series which are immediately 

preceded by a number, which is a perfect cube?

संख्यात्मक श्ररंििा में ऐसी चकतनी चवषम संख्याए ँहैं चिनके ठीक पहिे एक 

संख्या है, िो एक पूणण घन है?

1. Six

2. Seven

3. Eight

4. More than eight

5. None of these



6 7 8 9 9 8 7 9 7 7 8 9 7 8 7 6 9 6 8 9 7 7 9 8 9 7 6 6 8 7

If 2 is subtracted from all odd numbers and 1 is subtracted from all even numbers 

in the given number series, then which number will be sixteenth from the right 

end?

यचद दी गई संख्या श्ररंििा में सभी चवषम संख्याओ ंमें से 2 घटाया िाता है और सभी सम संख्याओं

में से 1 घटाया िाता है, तो कौन सी संख्या दायें छोर से सोिहवीं होगी?

1. 7

2. 5

3. 9

4. 8

5. None of these



6 7 8 9 9 8 7 9 7 7 8 9 7 8 7 6 9 6 8 9 7 7 9 8 9 7 6 6 8 7

How many such even numbers are there which is immediately followed 

by a perfect square in the above series?

ऐसी चकतनी सम संख्याए ँहैं चिनके ठीक बाद उपरोक्त श्ररंििा में एक 

पूणण वगण आता है?

1. Only one

2. Two

3. Three

4. Five

5. None of these



Statements:   ZO ≤ EV≤ TW < FF ≤ SS= EE

Conclusions:

1. EV< EE

2. SS> EV

3. ZO= EV

4. TW > FF

5. EE = SS



Statements: EE = FF ≤ SS ≤ TH > EV > ZO

Conclusions:

1. FF ≤ EV

2. EE ≤ SS

3. FF = EE

4. TH > ZO

5. TH ≥ EE



Statements:  FU ≤ TW > EV ≤ TL ≤ ST ≤ EE

Conclusions:

1. TL ≤ EE

2. EE = TW

3. FU > EV

4. FU = EV

5. 2, 3 and 4



Statements:  FU ≤ TW < EV ≤ TL ≤ ST ≤ EE

Conclusions:

1. EV ≤ EE

2. EE > FU

3. EE = EV

4. FU > TW

5. ST < TW



Statements:    TH ≤ FF ≤ NT ≥ FU = EV > TW

Conclusions:

1. TH > FF

2. FU > TW

3. NT > TW

4. NT > EV

5. FF > FU



In a Certain code MONKEY is written as CEDAEJ ,than find the code 

for FLOWER?

एक चनचित कोड में MONKEY का कोड CEDAEJ चििा गया है तो FLOWER 

का कोड क्या होगा ?

(1) BFHEFE

(2) FEHEFB

(3) BHEFEF

(4) FBEFEH



In a Certain code JUNGLE is written as 61710381,than find the 

code for FOREST?

एक चनचित कोड में JUNGLE का कोड 61710381 चििा गया है तो

FOREST का कोड क्या होगा ?

(1) 2101412615

(2) 2111411516

(3) 2011412516

(4) 2101411615



In a Certain code 21 – 9 – 17 – 34 is written as 44 – 20 – 36 –

70 ,than find the code for 33 – 51 – 3 – 12 ?

एक चनचित कोड में 21 – 9 – 17 – 34 का कोड 44 – 20 – 36 – 70 

चििा गया है तो 33 – 51 – 3 – 12 का कोड क्या होगा ?

(1) 66 – 102 – 8 - 24

(2) 68 – 102 – 6 - 26

(3) 66 – 104 – 6 - 24

(4) 68 – 104 – 8 - 26



solution ,handle ,problem ,every is written as 5+7l , 2+4n , 4-8o , 1-5e

something, diverted, honesty is written as 5-7m, 1+2v, 2-4n 

fine, leader, quality, work is written as 1+8n, 3+6a , 5-1a, 6+9r 

What is code for “quality leader” के चिए सभंाचवत कोड क्या होगा? 

(1) 5-1a , 3+6a 

(2) 3+6a , 5-1a 

(3) 6+2a , 3+6a 

(4) 5-1a , 3-6a 

(5) 5-1a , 3+6b



solution ,handle ,problem ,every is written as 5+7l , 2+4n , 4-8o , 1-5e

something, diverted, honesty is written as 5-7m, 1+2v, 2-4n 

fine, leader, quality, work is written as 1+8n, 3+6a , 5-1a, 6+9r 

What does “1+2v” stands for ?

(1) diverted 

(2) work 

(3) handle 

(4) too 

(5) NOT



Eight persons P, Q, R, S, T, U, V 

and W were seated around a 

circular table facing the centre .

• U was 2nd to the left of P and 

faced V 

• R was 2nd to the right of T who 

faced S

• Q was 3rd to the left of W

• P was not neighboring T

आठ व्यकि P, Q, R, S, T, U, V और 

W एक वतृगकगर मेज के चगरो ओर कें द्र 

की ओर मखु करके बैठे थे। 

• U, P के बगयें से दसूरे स्थगन पर थग 

और उसकग मखु V की ओर थग 

• R, T के दगयें से दसूरे स्थगन पर थग, 

कजसकग मखु S की ओर थग 

• Q, W के बगयें तीसरग थग 

• P, T . कग पडोसी नहीं थग



Eight persons P, Q, R, S, T, U, V 

and W were seated around a 

circular table facing the centre.

• U was 2nd to the left of P and 

faced V 

• R was 2nd to the right of T who 

faced S

• Q was 3rd to the left of W

• P was not neighboring T



Eight persons P, Q, R, S, T, U, V and W are sitting around a square 

table with four of them sitting at the corner and rest sitting at the 

middle of the sides of table. All of them are facing towards the centre of 

the table . One person sits between P and V. Two persons sit between V 

and S. P sits at the corner of the table. U sits to the immediate left of T. 

R sits second to the right of T. Q sits to the immediate right of R. W 

does not sit to the immediate left of P.

आठ व्यचक्त P, Q, R, S, T, U, V और W एक वगाणकार मेि के िारों ओर बैठे हैं, 

चिनमें से िार कोने पर बैठे हैं और शेष मेि की भुिाओ ंके मध्य में बैठे हैं। उन सभी का

मुि मेि के कें द्र की ओर है। P और V के बीि एक व्यचक्त बैठा है। V और S के बीि 

दो व्यचक्त बैठे हैं। P मेि के कोने पर बैठा है। U, T के ठीक बायें बैठा है। R, T के दायें

से दूसरे स्थान पर बैठा है। Q, R के ठीक दायें बैठा है। W, P के ठीक बायें नहीं बैठा है।



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table . One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits to 

the immediate right of R. W does not sit to the immediate left of P.



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.

एक स्टोर में, 8 चडब्बे- A, B, C, D, E, F, G और H एक के ऊपर एक रिे गये हैं; िेचकन िरूरी नहीं चक इसी 

क्रम में हो। प्रत्येक बॉक्स पर 1 से 8 तक एक संख्या चििी गयी है। नंबर 1 शीषण पर है, संख्या 8 सबसे नीिे है और 

इसी प्रकार अन्य चडब्बे भी रिे गए हैं।

बॉक्स E को बॉक्स H के नीिे रिा गया है। बॉक्स A नंबर 7 पर है। बॉक्स F नंबर 5 पर नहीं है। बॉक्स B नंबर 4 

पर है। बॉक्स D या बॉक्स C नंबर 1 पर है। बॉक्स G नंबर 3 और 5 पर नहीं है। । बॉक्स F नंबर 2 और 3 पर नहीं है| 

बॉक्स D नंबर 8 पर है।



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.



Eight boxes G, H, F, E, D, C, B and A are 

arrange in top to bottom. Each box have 

different colour Red, Yellow, Green, Pink, 

Violet, White, Black and Blue, but not 

necessary in the same order. Only one box 

kept between G and F. Both Violet and Yellow 

box kept below to C. Only two box kept 

between E and Black. The colour of box B is 

not Black. The colour of box G is Green and 

the colour of box D is Pink. Only four box kept 

between G and H. The colour of box F is Blue. 

As many boxes between H and B as between H 

and D. B kept at one of the position above to 

D. A kept immediately below to White. Only 

two box kept between Violet and Yellow.

आठ चडब्बे G, H, F, E, D, C, B और A ऊपर से नीिे 

व्यवचस्थत हैं। प्रत्येक बॉक्स में अिग-अिग रंग िाि, 

पीिा, हरा, गुिाबी, बैंगनी, सफेद, कािा और नीिा 

है, िेचकन एक ही क्रम में आवश्यक नहीं है। G और F 

के बीि केवि एक बॉक्स रिा गया है। बैंगनी और 

पीिे रंग के दोनों बॉक्स C के नीिे रिे गए हैं। E और 

कािे रंग के बीि केवि दो बॉक्स रिे गए हैं। चडब्बा B 

का रंग कािा नहीं है। चडब्बा G का रंग हरा है और 

चडब्बा D का रंग गुिाबी है। G और H के बीि केवि 

िार चडब्बे रिे गए हैं। चडब्बा F का रंग नीिा है। H और 

B के बीि उतने ही चडब्बे हैं चितने H और D के बीि 

हैं। B को D के ऊपर चकसी एक स्थान पर रिा गया है। 

A को सफेद के ठीक नीिे रिा गया है। बैंगनी और 

पीिे रंग के बीि केवि दो चडब्बे रिे गए हैं। 



Eight boxes G, H, F, E, D, C, B and A are arrange in 

top to bottom. Each box have different colour

Red, Yellow, Green, Pink, Violet, White, 

Black and Blue, but not necessary in the 

same order. Only one box kept between G 

and F. Both Violet and Yellow box kept 

below to C. Only two box kept between E and 

Black. The colour of box B is not Black. The 

colour of box G is Green and the colour of 

box D is Pink. Only four box kept between G 

and H. The colour of box F is Blue. As many 

boxes between H and B as between H and D. 

B kept at one of the position above to D. A 

kept immediately below to White. Only two 

box kept between Violet and Yellow.



Q. If the positions of the first and the fifth digits of the number 83591427 are 

interchanged, similarly the positions of the second and the sixth digits are interchanged 

and so on then which of the following will be the second digit from the right end after the 

rearrangement ?

यचद संख्या 83591427 के पहिे और पांिवें अंक की चस्थचत को पररवचतणत चकया गया है और दूसरे 

और छठे अंकों की चस्थचत को पररवचतणत चकया िाता है और यही क्रम आगे िारी है तो 

चनम्नचिचित में से कौन सा पररवतणन के बाद दाये छोर से दूसरा अंक होगा ?

(1) 5

(2) 3

(3) 9

(4) 2

(5) None of these



F, E, D, C, B and A are arranged in the top to bottom. Each box contains different colour Green,

Pink, Violet, White, Black and Blue, but not necessary in the same order. Only three boxes kept 

between D and the box which contains Pink. Both the box which contains Violet and the box 

which contains White kept below to C. Only three box kept between E and the box which 

contains Black. As many boxes between F and E as between E and D. A kept immediately 

above to the box which contains White. Only one box kept between the box which contains 

Violet and the box which contains Blue. The box F contains Blue color .

F, E, D, C, B और A को ऊपर से नीचे तक व्यवकस्थत ककयग र्यग ह।ै प्रत्येक बॉक्स में अलर्-अलर् रंर् होतग ह,ै हरग 

र्लुगबी, बैंर्नी, सफेद, कगलग और नीलग, लेककन आवश्यक नहीं इसी क्रम में हो। D और र्लुगबी वगले किब्बे के मध्य 

केवल तीन किब्बे रख ेर्ए हैं। दोनों बॉक्स कजसमें बैंर्नी ह ैऔर कजस बॉक्स में सफेद ह ैवह C के नीचे रखग र्यग ह।ै E 

और उस बॉक्स के बीच केवल तीन बॉक्स रख ेर्ए हैं कजसमें कगलग ह।ै F और E के बीच उतने ही किब्बे हैं कजतने E और 

D के बीच हैं। A उस किब्बे के ठीक ऊपर रखग ह ैकजसमें सफेद रंर् ह।ै बैंर्नी वगले किब्बे और नीले रंर् के किब्बे के बीच 

केवल एक किब्बग रखग र्यग ह।ै किब्बग F में नीलग रंर् ह।ै



F, E, D, C, B and A are arranged in the top to 

bottom. Each box contains different colour

Green,Pink, Violet, White, Black and Blue, 

but not necessary in the same order. Only 

three boxes kept between D and the box 

which contains Pink. Both the box which 

contains Violet and the box which contains 

White kept below to C. Only three box kept 

between E and the box which contains Black. 

As many boxes between F and E as between 

E and D. A kept immediately above to the 

box which contains White. Only one box kept 

between the box which contains Violet and 

the box which contains Blue. The box F 

contains Blue color.




